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align.rb®align rec(s, t) & align(s, t) ZH\>T, "GACGG" & "GATCGG" "GACGGA" & "GATCGGA"
"GACGGAT" & "GATCGGAA" "GACGGATT" & "GATCGGAAT" (35&1C K> T, "GACGGATTA" & "GATCGGAATA",
"GACGGATTAG" & "GATCGGAATAG" 7% &) D7 74 ¥ A ¥ MIET 2 IRl % F4HI L Coll % ke &
align rec(s, t) ICED % WIMZET 2 DT, HMOXFHE2HLTOEL L TGRLAHDBR Y
7259, B, REOEMIIHEEOREITH>TH RV, XDOLIHITTIUIMETE .

irb(main) :001:0> load("align.rb")
=> true

irb(main) :002:0> require("benchmark")

=> true
irb(main) :003:0> Benchmark.measure{ align_rec("GACGG", "GATCGG") }.total
=> 0.00999999999999091 (2 NHSEATIRED)

irb(main) :004:0> Benchmark.measure{ align_rec("GACGGATTAG", "GATCGGAATAG") }.total
=> 55.39

irb(main) :005:0> Benchmark.measure{ align("GACGGATTAG", "GATCGGAATAG") }.total

15
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P& X4 2 align rec align
"GACGG” "GATCGG” FEATIRFHA] FEATIRFH]
"GACGGA” "GATCGGA” FEATIRE A FEATIRFH]
"GACGGAT” "GATCGGAA” FEATHRFH] FEA TN ]
"GACGGATT” "GATCGGAAT” FATREH FEA TR
"GACGGATTA” "GATCGGAATA” FEATIRF ] FATi
"GACGGATTAG” | "GATCGGAATAG” FEATIR A FEA TR
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